KEYWORTH CRICKET CLUB - 1989 SEASON

M White, A Wood.

Gen Sec: B Cannell Fixture Sec: J Childs Treasurer: J Woodford

1st XI Captain: S King Vice Capt: D Baldrey Evening League Capt: D Baldrey

2nd XI Captain: A ElliottVice Capt: B CannellJunior Capt: G BakerYouth Team Manager: B BakerSocial Sec: N Palmer

Groundsman: M White. Umpire: M Elliott & P Coultas.

Review of the Season:

KCC lost to Oxton CC on 2 July 1989 in the Final of the Thurgarton Sixes having beaten Plumtree CC in the Semi Final and Caythorpe CC in the First Round.

Former 1930s Captain Horace Murden is featured in Nottingham Evening Post full page article 16 August 1989 on KCC History and he making Cricket Bats for Gunn & Moore.

Presentations made to...

Gunn Batting Trophy for the Best Average -

Highest Score Trophy – 2nd XI Batting Award for Best Average –

Bowling Trophy for Best Average – Murray Stewart

Best Bowling Performance Trophy – 2nd XI Bowling Trophy for Best Average –

Young Player Trophy – Rob Baker

1st XI LEAGUE MATCH RESULTS...

06.05.1989	OXTON	Н	Lost by 107 runs
13.05.1989	ATTENBOROUGH	Н	Won by 57 runs
20.05.1989	CALVERTON	Н	Lost by 18 runs
27.05.1989	GEDLING VILLAGE	Н	Won by 1 wkt
03.06.1989	ORSTON	A	Won by 21 runs
10.06.1989	CAYTHORPE	Н	Lost by 5 wkts
17.06.1989	CLIFTON VILLAGE	A	Won by 124 runs
24.06.1989	GOTHAM VILLAGE	Н	Won by 37 runs
01.07.1989	PLUMTREE	Н	Lost by 2 wkts
08.07.1989	OXTON	A	Lost by 19 runs
15.07.1989	ATTENBOROUGH	A	Lost by 129 runs
22.07.1989	CALVERTON	A	Lost by 5 wkts
29.07.1989	GEDLING VILLAGE	A	Won by 72 runs
05.08.1989	ORSTON	Н	Lost by 25 runs
12.08.1989	CAYTHORPE	A	Lost by 4 wkts
19.08.1989	CLIFTON VILLAGE	Н	Won by 7 wkts
26.08.1989	GOTHAM VILLAGE	A	Lost by 86 runs
02.09.1989	PLUMTREE	A	Lost by 4 wkts
D	L N - 44' L L ' V': II	Codalast I as	CENIOD I E

Save & Prosper South Nottinghamshire Village Cricket League SENIOR LEAGUE CUP...

Save & Prosper South Nottinghamshire Village Cricket LEAGUE Table – PREMIER DIVISION:

	•	Pld	W	L	Tie	NR	Pts
1	GOTHAM VILLAGE	18	15	3	0	0	223
2	CAYTHORPE	18	11	6	1	0	194
3	CALVERTON	18	12	5	0	1	188
4	PLUMTREE	18	9	9	0	0	166
5	ATTENBOROUGH	18	10	7	0	1	161
6	ORSTON	18	7	11	0	0	141
7	KEYWORTH	18	7	11	0	0	140
8	OXTON	18	6	12	0	0	134
9	CLIFTON VILLAGE	18	7	11	0	0	127
10	GEDLING VILLAGE	18	4	13	1	0	100

HIGHEST SCORE: 304-7 KEYWORTH v CLIFTON VILLAGE (17.06.1989) LOWEST SCORE: 32 KEYWORTH v CAYTHORPE (06.08.1989)

1st XI BATTING Averages (qualification 6 completed innings)									
			Matches		nings	Not Out		Total Runs	. Ave
	S KIN	G	16		16	0	100	548	34.25
	K HIT	CHCOCK	10		10	0	91	249	24.90
	E LAY	7	17		17	1	75	274	17.13
	D BAI	LDREY	19		19	1	31	279	15.50
	T WR	IGHT	7		7	0	28	108	15.43
	M STI	EWART	14		14	2	37	176	14.67
	J CHII	LDS	21		21	1	32	265	13.25
	R SPE	NCER	10		10	0	39	126	12.60
	S MEI	EK	10		10	0	26	114	11.40
	T HEF	BURN	15		15	2	30	133	10.23
		NDALL	21		16	5	20*	93	8.45
	J BUT		14		14	1	13	108	8.31
	R HEE		16		13	4	19	57	8.14
	N PAI		20		18	7	12*	53	4.82
Also Batte						,			2
	A ELI	JOTT	4		4	0	56	80	20.00
	P KEE		2		2	0	15	25	12.50
	B LUN		4		4	0	21	50	12.50
	G ROI		8		6	1	24	52	10.40
	G BAI		3		3	0	9	20	6.67
	P ALL		2		1	0	2	2	2.00
	S DAF		1		1	1	1*	1	2.00
Best off th		_	•		•	1	•	1	
	Runs	Player			Oppo	sition		Venue	Date
	100	S KING		V		LING VII	LAGE	A	29.07.1989
	98	S KING		V		HAM VIL		Н	24.06.1989
	91	K HITCHCOCK		v		VERTON		A	22.07.1989
	81	S KING		v		TON VIL		A	17.06.1989
	75	E LAY		v		VERTON		A	22.07.1989
	64	K HITCHCOCK		v		TON VIL		A	17.06.1989
	57	S KING		v	ORS'		LITGE	A	03.06.1989
	56	A ELLIOTT		v	OXT			H	06.05.1989
Leading "		ers of the season		•	0211	011		11	00.03.1707
Leading	S KIN		. 8	F	R HEEI	EY		1	
		CHCOCK	7			WART		1	
	E LAY		2	1,	n oil	*********		1	
Best Batti		nerships of the Se	_						
	_	Partners					Opposition		Date
1 st	93	S KING & E L	ΑY				ATTENBOR	OUGH	13.05.1989
2 nd	62	S KING & E L					CLIFTON V		19.08.1989
3^{rd}	89	S KING & K H		CK			CLIFTON V		17.06.1989
4^{th}	0)	E LAY & K HI					CALVERTO		22.07.1989
5 th		L Litt with	1011000				CHEVERTO	11	22.07.1707
6 th									
7^{th}	30	R HEELEY &	G ROBSO)NI			CLIFTON V	II I AGE	19.08.1989
8 th	30 49	R HEELEY &			,		CLIFTON V		19.08.1989
9 th	4 7	KIEELEI &	IVI SIEW	ЛΝΙ			CLIPTON V	ILLAUE	19.00.1707
10 th									
10 "									

1st	XI BOWLING	Averages	(qualification	8	wickets	or	60	overs)
-----	------------	----------	----------------	---	---------	----	----	--------

	Overs	Maidens	Runs	Wkts	Ave	
M STEWART	103.3	15	342	22	15.54	
A RANDALL	160.1	24	608	37	16.43	
G ROBSON	60.0	10	257	15	17.13	
R HEELEY	125.1	17	477	25	19.08	
T HEPBURN	118.3	13	458	23	19.91	
N PALMER	149.2	22	555	25	22.20	
S MEEK	58.5	12	231	9	25.67	
Also bowled						
P ALLAN	12.0	5	29	2	14.50	
K HITCHCOCK	16.1	3	64	3	21.33	
J BUTTERY	23.0	2	88	2	44.00	
R SPENCER	3.0	0	21	0		
Best with the Ball						
Figures Player		Opposi	tion		Venue	Ι
		V				

1st XI CATCHING & STUMPING:

	Catches	Stumpings		Catches	Stumpings
E LAY	14	0	R HEELEY	5	
S KING	11	0	T HEPBURN	5	
D BALDREY	9		S MEEK	5	
J CHILDS	8		R SPENCER	5	
N PALMER	7		J BUTTERY	4	
A RANDALL	7		A ELLIOTT	3	
M STEWART	7		T WRIGHT	3	
K HITCHCOCK	6		G BAKER	1	
G ROBSON	6		P KEELING	1	
			B LUND	1	

2nd XI LEAGUE MATCH RESULTS...

JEI I G C E IV.	arren reservi		
06.05.1989	NEWSTEAD ABBEY	A	Lost by ? wkts
13.05.1989	THRUMPTON	A	Lost by 42 runs
20.05.1989	SAWLEY	A	Lost by 4 wkts
27.05.1989	FLINTHAM	A	Lost by 4 wkts
03.06.1989	COTGRAVE	Н	Lost by 26 runs
10.06.1989	WILLOUGHBY	A	Lost by 62 runs
17.06.1989	WOODBOROUGH	Н	Won by 70 runs
24.06.1989	GOTHAM VILLAGE II	A	Lost by 7 wkts
01.07.1989	HICKLING	A	Lost by 12 runs
08.07.1989	NEWSTEAD ABBEY	Н	Won by 1 wkt
15.07.1989	THRUMPTON	Н	Won by? wkts
22.07.1989	SAWLEY	Н	Lost by 3 wkts
29.07.1989	FLINTHAM	Н	Won by 6 wkts
05.08.1989	COTGRAVE	Α	Won by 9 wkts
12.08.1989	WILLOUGHBY	Н	Lost by 8 wkts
19.08.1989	WOODBOROUGH	A	Lost by 79 runs
26.08.1989	GOTHAM VILLAGE II	Н	Lost by 42 runs
02.09.1989	HICKLING	Н	Lost by 5 wkts

Save & Prosper South Nottinghamshire Village Cricket LEAGUE Table – DIVISION THREE:

		Pla	W	L	1 1e	NK	Pts
1	GOTHAM VILLAGE II	18	14	4	0	0	212
2	NEWSTEAD ABBEY	18	13	4	0	1	208
3	SAWLEY	18	12	5	0	1	186
4	HICKLING	18	11	7	0	1	174
5	WILLOUGHBY	18	10	6	0	2	173
6	THRUMPTON	18	9	9	0	0	161
7	WOODBOROUGH	18	7	11	0	0	134
8	KEYWORTH II	18	5	13	0	0	120
9	FLINTHAM	18	5	12	0	1	95
10	COTGRAVE	18	1	15	0	2	63

HIGHEST SCORE: 230 KEYWORTH v WOODBOROUGH (17.06.1989)

LOWEST SCORE: 58 KEYWORTH v GOTHAM VILLAGE II (24.06.1989)

2 nd XI BATTING Averages	(qualification 6	completed	innings)
-------------------------------------	------------------	-----------	----------

	Matches	Innings	Not Out	HS	Total Runs	Ave
T WRIGHT	13	13	0	87	409	31.46
A ELLIOTT	12	12	2	79	311	31.10
B CANNELL	15	15	1	37	272	19.43
P KEELING	17	16	1	65	264	17.60
G ROBSON	11	8	2	71*	91	15.17
J WOODFORD	15	15	0	34	220	14.67
S MEEK	9	9	0	27	125	13.89
D HALLAM	16	12	2	26	62	6.20
G BAKER	13	10	1	15	70	7.78
I DRIVER	10	9	0	22	66	7.33
G HEELEY	16	14	2	8	38	3.17
K HORSLEY	17	14	2	15	61	5.08
Also Batted						
J BALDREY	2	1	0	36	36	36.00
M STEWART	4	4	1	67	102	34.00
M BROWN	4	4	1	48*	73	24.33
R SPENCER	7	7	2	21*	82	16.40
B LUND	4	3	1	20*	48	16.00
M CUMBERPATCH	3	3	0	11	23	7.67
R BAKER	6	4	1	7	11	3.67
S DAFT	4	3	1	2*	2	1.00
Rest off the Rat						

Best off the Bat...

Runs	Player		Opposition	Venue	Date
87	T WRIGHT	V	HICKLING	H	02.09.1989
79	A ELLIOTT	V	WOODBOROUGH	Н	17.06.1989
79	T WRIGHT	V	WOODBOROUGH	Α	19.08.1989
77	T WRIGHT	V	FLINTHAM	Н	29.07.1989
74	T WRIGHT	V	SAWLEY	Н	22.07.1989
71*	G ROBSON	V	NEWSTEAD ABBEY	Α	06.05.1989
67	M STEWART	V	THRUMPTON	A	13.05.1989
65	P KEELING	V	WOODBOROUGH	Н	17.06.1989
51	A ELLIOTT	V	WILLOUGHBY	H	12.08.1989

Leading "6" Hitters of the season...

Wkt	Runs	Partners	Opposition	Date
1 st	110	A ELLIOTT & P KEELING	WOODBOROUGH	17.06.1989
2^{nd}				
$3^{\rm rd}$	92	T WRIGHT & A ELLIOTT	FLINTHAM	29.07.1989
4^{th}				
5 th				
6^{th}				
7^{th}				
8^{th}				
9 th				
10^{th}				

2nd XI BOWLING Averages (qualification 8 wickets or 60 overs)...

	Overs	Maidens	Runs	Wkts	Ave
G BAKER	34.5	6	147	8	18.38
G HEELEY	132.2	17	506	31	16.32
K HORSLEY	100.2	15	387	19	20.34
D HALLAM	142.0	17	539	28	19.25
G ROBSON	70.4	10	313	11	28.45
Also bowled					
T WRIGHT	15.0	0	65	7	9.29
B LUND	14.4	0	61	6	10.17
J BALDREY	8.0	0	25	2	12.50
R A BAKER	8.2	0	55	4	13.75
M STEWART	35.4	4	119	7	17.00
M CUMBERPATCH	10.0	1	44	2	22.00
S MEEK	19.3	2	80	2	40.00
P KEELING	28.0	3	116	2	58.00
R SPENCER	3.0	0	18	0	
Best with the Ball					
E. Di		· ·	· ·		T 7

Figures	Player		Opposition	Venue	Date
6-20	D HALLAM	V	HICKLING	A	01.07.1989
5-17	G BAKER	V	COTGRAVE	A	05.08.1989
5-23	G HEELEY	V	COTGRAVE	A	05.08.1989
5-28	K HORSLEY	V	NEWSTEAD ABBEY	H	08.07.1989
5-39	K HORSLEY	V	WOODBOROUGH	Н	17.06.1989

2nd XI CATCHING & STUMPING:

	Catches	Stumpings		Catches	Stumpings
A ELLIOTT	8	0	G BAKER	3	
J WOODFORD	8	1	R SPENCER	3	
T WRIGHT	7		S DAFT	2	0
G ROBSON	6		S MEEK	2	
B CANNELL	5		R A BAKER	1	
G HEELEY	5		J BALDREY	1	
K HORSLEY	5		M BROWN	1	
P KEELING	5		M CUMBERPATCH	1	
I DRIVER	4		B LUND	1	
D HALLAM	4		M STEWART	1	

MATCH	MATCH RESULTS in NOTTINGHAM EVENING LEAGUE:						
0	2.05.1989	GEDLING VILLAGE			Η		
0	9.05.1989	ARNOLD			Н	Won by 4	19 runs
1	6.05.1989	WEST BRIDGFORD	RBL		Н	Lost by 7	wkts
	3.05.1989	ST AIDANS			Н	Lost by 3	
3	0.05.1989	PAKISTAN KASHM	IR		A	Won by ?	
	6.06.1989	KINGSTON XI			Н	J	
	1.06.1989	GEDLING VILLAGE	,		A	Won by 1	1 runs
	7.06.1989	ARNOLD			Α	Won by 6	
	4.07.1989	WEST BRIDGFORD	RBL		Α	,	
	2.07.1989	ST AIDANS			A		
	8.07.1989		IR		Н	Won by 6	ó runs
	5.07.1989	KINGSTON XI			A		, 1 6,110
Nottingh	am Evening	LEAGUE Division TH	IREE T	able:			
8	8		Pld	W	L	Tie	Pts
1	ST AIDA	NS	12	10	1	1	75
2	KEYWO		12	6	5	1	50
3	ARNOLD		12	6	6	0	45
4	WEST BR	LIDGFORD ROYAL	11	6	5	0	44
		BRITISH LEGION					
5	PAKISTA	N KASHMIR	11	5	6	0	39
6	KINGSTO	N XI	12	5	7	0	37
7	GEDLING	G VILLAGE	12	2	8	0	19
EDDIE N	MARSHALI	CUP:					
		KEGWORTH		Н		Won by 7	7 wkts
		LONG EATON		A		Won by 1	
	23.06.1989	WEST INDIAN C.		A		Lost by 9	
	AN CUP:	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,				20000	0 1 44115
	25.05.1989	MELTON		Н		Won by 2	24 runs
	13.06.1989	GOTHAM		Н		Lost by 2	
	30.06.1989	EGERTON PARK		A		Match ab	
	04.07.1989	EGERTON PARK		A		Lost by 2	
	0 0 / . 1 / 0 /	2021010111111				2000 0 9 2	, I WIII

EVENING I	LEAGUE XI	RATTING	Averages (no	qualification)
		DALLING	ふくしに などしろ しけい	uuammaauvii <i>i</i>

			,			
	Matches	Innings	Not Out	HS	Total Runs	Ave
S MEEK	5	5	2	84	166	55.33
S KING	14	14	1	54	245	18.85
R RATHBONE	9	9	2	32*	131	18.71
D BALDREY	13	11	5	18	102	17.00
T HEPBURN	7	5	2	29*	50	16.67
E LAY	10	9	1	53*	116	14.50
T WRIGHT	10	10	0	42	134	13.40
J BUTTERY	13	10	4	20*	75	12.50
J CHILDS	14	13	0	34	140	10.77
M STEWART	8	4	1	11	24	8.00
A ELLIOTT	2	1	0	7	7	7.00
K HITCHCOCK	4	4	0	10	21	5.25
N PALMER	13	4	3	2	4	4.00
J DRING	1	1	0	3	3	3.00
A RANDALL	11	5	2	5*	9	3.00
R A BAKER	4	2	0	5	5	2.00
G BAKER	4	2	0	3	3	1.50
J BALDREY	2	0	0	0	0	
S DAFT	2	0	0	0	0	
I DRIVER	2	0	0	0	0	
S WATKINSON	3	1	1	1*	1	

Leading "6" Hitters of the season...

S MEEK	8
S KING	6
R RATHBONE	4
T WRIGHT	4
D BALDREY	1
T HEPBURN	1
K HITCHCOCK	1

K HITCHCOCK 1 EVENING LEAGUE XI BOWLING Averages (no qualification)

	Overs	Maidens	Runs	Wkts	Ave
S WATKINSON	2	0	9	2	4.50
T HEPBURN	32	4	146	9	16.22
S KING	3	0	33	2	16.50
M STEWART	24	1	164	8	20.50
A RANDALL	23	0	170	8	21.25
S MEEK	11	0	90	4	22.50
J BUTTERY	57	2	284	12	23.67
N PALMER	33.5	1	267	11	24.27
J BALDREY	5	0	65	1	65.00

EVENING LEAGUE XI CATCHING & STUMPING:

	Catches	Stumpings
J CHILDS	4	
J BALDREY	3	
T WRIGHT	3	
T HEPBURN	2	
S MEEK	2	
N PALMER	2	
R A BAKER	1	
J BUTTERY	1	
S KING	1	1
E LAY	0	2

MATCH RESULTS in NOTTINGHAM YOUTH Under 17 South LEAGUE:

15.05.1989	TOTON BR	٨	Lost by?
		A	Losi by !
12.06.1989	PLUMTREE	A	Lost by ?
21.06.1989	RUDDINGTON	H	Won by?
28.06.1989	KEGWORTH	A	Won by?
06.07.1989	SHERWOOD & WILFORD	H	Won by?
11.07.1989	NOTTS UNITY CASUALS	A	Lost by ?

Nottingham Youth LEAGUE Under 17 South Table:

		Pld	W	L	Tie	Pts
1	NOTTS UNITY CASUALS	6	6	0	0	24
2	PLUMTREE	6	5	1	0	20
3	KEYWORTH	6	3	3	0	12
4	RUDDINGTON	6	2	4	0	8
5	SHERWOOD & WILFORD	5	2	3	0	8
	VILLAGE					
6	TOTON BR	5	2	3	0	8
7	KEGWORTH	6	0	6	0	0